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1.9.75 7% millions = ?

A. 9 000 + 700 + 50 B. 90 000 + 7 000 + 500
C. 900 000 + 70 000 + 5 000 D. 9 000 000 + 700 000 + 50 000

2HNETER 120 LAE L, NREILAELEFDL 4NFRAFI 2 AKX F, ATHR—AH
KB 20T 4 ) 3 P 3R AR 00 4 6 5 302
There are 120 color pencils in each box, and Bell divides these color pencils equally
among 4 boy students and 2 girl students. Which of the following equations correctly
counts the total number of color pencils that the girl students have received?

A. 120+ (4 -2) x 2 B.120+ (4-2) x4
C. 120+ (4 + 2) x 2 D. 120 + (4 +2) x 4
3.1 EF=MAETH S E. Table 1 shows the height of the three pillars.
#¥ pillar = & height
K 6 m 50 cm
K 2 m
L 5

% m longer than K

'k L 48 0.45 m
0.45m shorter than L

% 1 Tablel

B4 E R KHEF|4 T . Arrange the pillars from shortest to longest.
A.#2FK, #FL, #F M Pillar K, Pillar L, Pillar M
B.#F K, %M, #FL Pillar K, Pillar M, Pillar L
C.H#FL, #F7K, #F M Pillar L, Pillar K, Pillar M
D.4#F L, #F M, 3T K Pillar L, Pillar M, Pillar K

4. —AFATF T AR 36 @A KRIT. AL KITHMEZRM 65, A B £ 3 AHHAT 100 484 %
Ko HHZMARE 3 AW E LR,
A box can pack 36 packets of frozen prawns. The price per packet of frozen prawns is
RM65.The wholesaler sold 100 boxes of frozen prawns in March. Calculate the
wholesaler’s total sale in March.

A. RM 2 340 B. RM 23 400 C. RM 234 000 D. RM 702 000

5.A T8 FAME, % 7T: Al the following are prime numbers except
A. 43 B. 57 C. 61 D. 79

6.4 12 : 15 LA % E K. Convert 12 : 15 in the simplest form.

A.6: 5 B.4: 5 C.4: 3 D.2: 4
7.42:3=7
5 5
A. 8 B.6 C.l D.l
6 8
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8.9.35x§—3 -
A. 0.7 B. 0.74 C.3.4 D. 3.71

9.8 1 2T =R/ Fa94 7%, Diagram 1 shows the signboard beside the highway.

RPLERT J A LEIANE T, KPR R ZATH, 078 80 km. #F %5 b+
AT L?

Jet saw this signboard in City J. If he travels at the constant speed 80 km/h, how long
does it take for him to get to City L?

A. 18 30 %% 1 hour 30 minutes B. 1 /8f 40 9% 1 hour 40 minutes
C. 1 /] 45 %% 1 hour 45 minutes D. 2 ‘B 15 %F 2 hours 15 minutes

10.FHARMS5115 kT —ANFERAE, 47 H3RF RM 780 49410, Pl iX /& Z RAEAGE MR
% 19
!
Yu Jin buys an antique closet for RM 5115. He intends to gain a profit of RM 780. What
is the selling price of the antique closet?

A. RM 5985 B. RM 5895 C. RM 4335 D. RM 4245

11. 3 B AT AR —M A E 445 ? Which of the following is correct?

A. 123 cm =0.123 m B. 7777 cm = 7.777mm
C.0.35km =350m D. 10m lcm=111cm
12. 722
12 75
A1Z B. 1+ c.1L D. 2L
15 15 15 15
13. 41+2—7_
2 2
Az B.1— c. 1 D.2
49 49 3 6

14. (3.94kg - 2.5 kg) + 400g
A. 1.48 kg B. 1.84 kg C.184g D. 1408 g
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15.Y+ (21-16) =415
i+ H Y #4918, Calculate the value of Y.
A. 83 B. 410 C. 4201 D. 2075

16.9% 325% i 4%. Convert 325% into fraction.

A3 B. 32 c. 3l D. 33
5 7 4 4

17.F 219 AN 4 F 6944 % /)» ? Which of the following numbers has the smallest value?
A. - 44.54 B. - 45.44 C.-44.45 D. - 45.45

18.—#i & mEMZTEA0275kg, K24 B mEN T,
Given that the mass of a bottle of tomato sauce is(0.275kg, calculate the total mass of
24 bottles of tomato sauce.
A. 4.8 kg B. 6.6 kg C. 5.5 kg D. 6.1 kg

19.7 A RM 38, ZARM26, FPELLE VAN AFARAMRE?
A has RM 38 and B has RM 26. How many does A need to give to B so that both of
them are having the same amount of money?

A. RM 32 B. RM 74 C.RM 6 D.RM 4

20.H 2 £R—% %%, K P+ Q =?Diagram shows a number line, evaluate P+ Q =?

] | | il ll

i
b I | | I

: Sl 6.2 8.7 Q 16.2
E 2 Diagram 2
A.17.4 B. 19.9 C. 10.0 D. 14.9

1 >

21.4% 1+24+0+2+2, Calculate 1+24+0=+2+2.
A. 2.5 B.3 C. 4 D. 4.5

22 . F 3|7 2 R EH 4 ? Which of the following is incorrect?
A.0.051=250 ml
B. 450 m = 0.45 km
C. 84 /J'B hours = 3 X days 5 ‘"I hours
D. 50 kg 500 g = 50.5 kg

23.1kg 500 g x1§=?
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24. 3 2 —M¥% & AE. Diagram 3 shows a route map.

RR/NE  Recreational park
Meiyi’s home '

FiXAIR

Friend’s house

ﬂﬂ%ﬁg -3

% Z#& School
' : , iy 4 km

54 0

K 3 Diagram 3
ERAREH AT E LA RANBREAELTFRANEERKOBEAITR, THENELT S km &
FEAZ?

Meiyi rides a bicycle from home along the shortest route to school but takes the longest
route home. Calculate how many kilometers Meiyi has travelled in total.

A.9.28 B. 11.08 C.11.80 D. 16.08
25. 1% 92 4+114001. Calculate 9— + 1L +0.01.
100 10 100 10
A. 10.09 B. 10.10 C.11.09 D.11.10



